
,?;jj ± ;;)1 98/5/3 

- ,	 /J<±:s'j~5UtJffif)(~ U(X,Y)=XY' B. Px =50 7L 'P y = 100 
7L ' pJT 1~ F.£ 5,a°0 7C ' ~rt Fr:1~ :
 

(l)/J\JiB~pfT1~T~~:ct9Dfp]~7G ? (5%)
 
(2)/J\]=s3~*~fflt~*S~1#Hfi~1~J~1PJ ? (5%)
 
(3 ):;5jE)(JMtffi~6/J\3i 1,000 :TC ' ~U/J\3iB~±~1~J1§1PJc~~? (5%)
 
(4):EI&J0c~f*i1 Y ~t~1jH~tffiilj]B'j.t~W:~6 ' ~UftW(3)~tLijff:tHLj]~
 

T '	Y ~,t~EJ*1lLJJ!fffiilj]~7C ? (5%) 
(5)J:~(3)~(4)f7-1~HiJJ:ct ' /J\.:litc'~1JWBPfjj:~-1i15:ct ? (5%) 

='1~j§9:*Jf!l.5~~7-t~-%!fiPJ513=t:ff!~JHj~7J<. ' J=t:W=*:W~:zjs:jff49DT : 
w:* : P= 150- 0.02Q
 
m:zjs: : C=30,OOO+50Q
 

(l)~~*CD5fIj~~:®:*B~11;f~ , j££:W5fm~ (15%)
0 

(2)i&R1PD~~titt~!~1lLj££g*m20 JCB~ffl ' ~JTB~1JH~ , ~£WfIj1~
 

m1PJ? (10%)
 

~ , ?JTf~3Zm1¥~'ffi£~;ZOT : (30 % 
) 

(1)	 Y=C+1+G+(X-ivi) ; (2) C=o+b(Y-T) ; (3) T=fo +I YJ 

(4) 1 =1
0 

; (5) G = Go ; (6) X = X o ; (7) A1 = M o+ mY
 

y : GDP , C : m. ' G : i&J&3Zm ' X : mD ' M : ~D '
 
T :	 ~t~ 

a.	 ~~S)j~k~~ (to) " ~rf:l~1~Ji (10 ) " teo (Xo)" §J~~D
 

( M o ) ~D~?JT1~Z*~%c~
 0 

b.	 ~~~~ffim~m~W~mm~~&ft~@~~o 
:;5o=JOOO ; b=0.75; to =500; 1J =0.15 ; 10 =800; Go =750; X o =1000 ;
 

M 0 = 400 , 171 = 0.1
 
c.	 ~*~1iJ ?JT1~ 0 

d.	 :;Sk~f%t~1JD 10% ' i&J&~m[PJ~tmJD 100 ~rr:1~?JT1~~1t( flY )
 

WW~tfj}\.~~1tfl(X -M) 0
 

e.	 Bi&J&~f:r 800 ~mJt~ , ~pjrr:1~PJ~D§7jt'PJTf~? illz~§H;SAm 

Jt3*i&W:1iJJ~~~? 16Jffi!f~~? x.rzgEmLt~~~¥)[M(i = 400~ I 
:trD~ 500 ' ~P.i rol~1iJPfT1~tB~1t ? 

'---------­



{E- t :g. J! htf- 1E fIT 
( {E- ¥ ~iL ' @]~ ,~iL ' M~ #il ) 

,b~ ±J)l 98/5/3 

[g' IS-LM ~:WJ~~POT : (20 % 
) 

IS: YS=C(y)+J(r,Y)+G+(X-M) (PJjrPDm:f:;$~1iJ) 

LM : ~s =Ld (r, Y)	 ( ~~m:f:;$~1iJ ) 

yS : f§ij~r::r1~~ , y : jf~PJT1~ , r : jf~fU$ , M S : ~~1*~ , 
Ld 

: ~~W* ' p : ~11 
a.	 ~m~)Lt.A IS-Ll\1 f~WJrm~®~7}3:~~? rmp®~~3:~~? 

b.	 ~m~Jj y (pJT1~) ~ J (tSt~) f¥J~¥fPJffl16Jm~~~ ?Mz.mJ 
rmmtL!t~ffifB 0 

c.	 ~§ft~&~3:mtlVtE~@rm (Liquidity trap) ffi!f ' ~~t!J LM E!±r 

*&~~t~ 0 

d.	 ~§ft~¥PRJ&Mi&i&* (Fiscal policy) ».~~i&* (Monetary 

policy) ffi!f~ IS-LM tl~~~l£z~W 0 




